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Question 1
(a) Examine the epistemological basis of the teaching methods used by Pythagoras,
Socrates and Protagoras in Ancient Greek education. (18 marks)

(b) Explain when and how you would use each of the approaches for effective teaching.
(7 marks)
[Total 25 marks]

Question 2

Compare and contrast the Western view of communitarianism with the African
communitarian philosophy of Ubuntu.

[Total 25 marks]
Question 3

Discuss the curriculum and teaching method(s) in the Roman education system. In your

discussion, illustrate the limitations of the philosophy or epistemology that informed such an

education system. [Total 25 marks]
Question 4
(a) Describe the conditions that led to the Renaissance. (15 marks)

(b) What was the Renaissance’s contribution to modern education? (10 marks)

[Total 25 marks]

Question 5

(a) Pestallozzi in his educational ideas described education of the child in terms of mind,
hearts and hands as part of education of the “whole child”. What does this involve? (3
marks)

(b) Discuss the relevance of Pestallozzi’s ideas of education of the “whole child” in the

modern school environment. (22 marks)

[Total 25 marks]



Question 6

Akinpelu (1987) describes Julius Nyerere the former Tanzanian President as a Philosopher
King in the ideas of Plato because of his position and original ideas in education of the

African Child.

(a) Discuss Nyerere’s criticism of British education at independence (15
marks)

(b) Examine his contribution to education of the Aftican child in the modern education
system. (10
marks)

[Total 25 marks]
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STATISTICAL FORMULAE
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ANALYSIS OF VARIANCE (ANOVA) FORMULAE
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ONE-WAY ANOVA TABLE
Source of Sum of squafes Degrees of Mean Square |
variation Freedom (df) '
Between Groups SST -] _ SST
(Treatments) ' P MST p—1 v
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Total n-1

n = total number of obsefvvations

p = number of treatments (number of samples or groups)

p-1 = numerator degrees of freedom

n-p =denominator degrees of freedom

T;= total for groupi(i=1,2,3, ..., p)

n;= number of observations in groupi(i=1, 2,3, ..., p)
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Find the row corresponding 10 the indicaled degrees of freedom, find the
column corresponding 10 the chosen level of significance, taking into ac-

count the type of H, (directionat or non-directional). The critical value I,
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